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QUESTION 1

Which statements are true regarding L3VPN configurations? 

A. Prior to configuring a vrf within MP-BGP, the router has to have instantiated the VPNv4 or VPNv6 address-family. 

B. On a single PE router, the Route Distinguisher and the Route Targets must be the same. 

C. Prior to configuring a neighbor in the VPNv4 address-family, it must already be configured for IPv4Unicast. 

D. The import and export Route Targets must be the same on a PE. 

Correct Answer: C 

 

QUESTION 2

Which command is used to undo a change after issuing a commit command? 

A. router# rollback configuration to -1 

B. router(config# commit undo 

C. router(config)# commit rollback 

D. router# rollback configuration last 1 

Correct Answer: D 

 

QUESTION 3

Which command is used to redistribute BGP into EIGRP for a Layer 3 VPN customer? 

A. router(config-eigrp-af)# redistribute bgp 65001 

B. router(config-eigrp-vrf-af)# redistribute bgp 65001 

C. rouur(config-eigrp-vrf)# redistribute bgp 65001 

D. router(config-eigrp)# redistribute bgp 65001 

Correct Answer: B 

 

QUESTION 4

What is the TRACE command? 

A. A packet tracer showing the path of a packet from ingress to egress in the router. 

B. The replacement for TraceRoute in IOS-XR. 
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C. A form of always-on debugging available for a subset of commands. 

D. Exactly the same as the debug command, must be explicitly turned on. 

Correct Answer: A 

 

QUESTION 5

Which underlying protocol(s) does LDP utilize to communicate with LDP Peers? 

A. UDP and TCP 

B. UDP only 

C. LDP uses IP Protocol 646 and does not rely on UDP or TCP 

D. TCP only 

Correct Answer: A 
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